=ZEERKRARH
EHEE & (TAh—H M)

MR LB ERET - ETHEE ) (2005 F R FEANBREE L 7—) DE2E (R EBDERET)
2.1 Poh—HRILEDEREHZELCTRETT 5,

1. #%E= |—fgEsa>Toirda=vbk
2. &= ECOV-EN150,185,225C(-BS,-BSG)
3. BT
(HOHBE= M M= 493 kg
QR EE W W=M x 10/1000= 493 kN
(2)7uh—iF Wk
OBRAERE :n n= 6 A
Q" IWME : d (FEFF) M 12
@—ARH =Y DERETEE (FFRIZKSMETE) A= 11304  |om?
O IRELBIEEZ-IGEDEIRVEZITDRBIQOTU AR WMEARE : nt
nt= 3 AN
B FEFELVEFZEDEFTOESS hG= 65.1 cm
(4)REFT BARDSH =R WFANY = 79.0 cm

(B)REI T DA MM LI =R WML N B DETDKF IR
IG=[ 352 Jem (G=1/2)

4. RETEHE
(1 ERETAKEEE :KH KH= 1.5 &35,
(2)ERETHKFEMESN FH FH=KHXW= 7.40 kN
() EZXETHMMEMESN FV FV=1/2xFH= 3.70 kN

(D Toh—HMDIREZYDEIEA :Rb
Rb={FH-hG—(W—FV)-IG}“{I'nt}=[___ 18 |kN

(B)TUh—KMDIRE=YIZERTHEARAN :Q
Q=FH/n=[_ 123 kN
(6)Fuh—FK WMNZET BIHHE

DBI-RYISHE o 0 =Rb /A= 164 |kN/cm?
o=[__ 164 | <#t=[__176___ |kN/om
QEAMEHE T T =Q/A=| 1.09 [kN/cm?

r=[__109 | <fs=[___ 101 JkN/em’
@BIoRY L AMERBICZIT515E

fts=14ft—16 T =| 229 |kN/cm?

o= 164 | <fs=[ 220 Jun/om’
(7) B S 3R HT ARERET - T L TRET | (2005 ARFARAN B AR SE > 5—) DESE X5, 5&Y

D7Uh-KMELE = FHRERIR, JARRUAYN K AMTE |
@av)-tEEs=[__ 180 _ |mm =[_ 018 [m
QR W DIBHAARS
L=[__128  |mm =[_ 0128 |m
@DFB5IEhETE Ta= 5.6 kN

Ta=[ 56 |kN>Rb=[ 18  |kN
LEDSHELY ., 7Uh-K NI+ DHBREZBELTIVS,

CE)1. REDTETICEWNT, 7Un-N WDEEEATEA TR DNRIYBELGEWRICEEEE
FERALTEZELY,

WAN37-742

(1/1)




